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And it traveled and landed in a miniscule crevice, this depends
on the argument between 7’8 %29 and the 3129

OVERVIEW

A. 2R maintains that *»7 2"772 "7 0. The X3 had a difficulty with
s 2R position, as follows: The mwn states' 'TIR2 P70 1 avnb P’ and he
1s 211 for 71"772 X"7 1. There 1s a proper 7137, as 13M° 27 explains, for we
are discussing a case where he threw a n°nw 19°27 and it stuck to the wall
("n mun?). This is obviously an unusual situation. The X713 asks since 2K
maintains that *»7 7"773 71"77 1, let us say that it landed in a crevice in the
wall facing the 2"77, which would render it a proper 7"7772 M137?

The X713 resolves this difficulty, (in one answer) that the 71wn cannot be
discussing a crevice in the wall, for then we would have a problem with the
X of the mwn which states that 27R2 P12 " 75917, and he is M5, Now if
the 7awn is discussing a case where it landed in a crevice, why is he M2,
since it is "“» 75vnY it is a "77 (since the [thickness of the] wall is
presumably 7"¥7), so he should be 2»n for throwing *";71% 2",

The X723 (rhetorically) attempts to refute this resolution; by asking: let us
say it did land in a crevice; and as to your question why he is " 72yn% 109,
the answer is that the crevice is smaller than *7"y7.

To which the X773 replies that this is no refutation, for even if the crevice is
not 7"v7, he should still be 2°°17, since »"1 maintains 2°2Wa% PPPI.

In conclusion: we cannot say that the m7wn is discussing a case where it
landed in a crevice, because we would not understand why D " THvn?
since DWW PRI, so he should be 21 for *"77% 2"777 P

B. In order to be nmm2 2111, a doorway must have an opening of at least

LR,p P2

% The explanation why if it is not 7"¥7 he is 19 can be understood as either; a) if it is not 7"¥7 it is not a
°"717 (which would seem to be the more simple interpretation), or b) if it is not 7"v7, there is no proper 17
(which may present a difficulty, for the &3 should have perhaps worded it '7 Dipn 2"y 11 X27 n"21). See
footnote # 14.

* It is important to remember this sequence to help us understand (especially the second half of) mpon.
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ten 2°119v high by four orov wide. If a doorway is ten 2°190 high and four
o1ov wide, however the doorposts curve or arc inwards (like an archway),
so that as we go higher on the doorway it is less than four 2°nov wide, before
it reaches a height of ten 2ndv, there is a 13271 1" nNPYPnN as to the status of
a1 20 for this doorway. n'"1 maintains that it 1s 77122 219, for we say
obwn? PPN, that is we imagine as if the doorposts were carved out
sufficiently to provide an open doorway that is ten by four a’rov; the 1127
argue and maintain that it is 7nmAn MWD because we do not say DWI? PRPPI.

moon will be discussing how can we compare 2°2W%? 1PPRIN by 1M to
obwn? PP by a w"> . Consequently that will compel moown to
reinterpret the question 7"¥7 2 n°97 0" and the s'%713 apparent acceptance
that we follow the ruling of n"7 against the majority opinion of the 7127.

nooIN asks:
9929 PNN 9 N2 1IN99T 19993 (ow) :0 9 12299297 NP P992T PNYY 1992499 NN

The 5'"9 finds this astounding! For we learnt in the first P9 of 9219 nd>on
concerning a doorway shaped as an arch, in which there is a npynn»
between 3139 99K 929 whether it is AMm2 277 -

— PN %299 DYYYNY PPPIN 159X NYT OND 199NN
We say there that (even) according to %'"% (who maintains that it is 2717
mmmA since °%wn® PPN, nevertheless) we do not say that ‘we carve out
the arch in order to complete’ the necessary dimensions for a doorway (which is ten
219v high by four 2°19v wide) -

- 71 AN9 )Na VIV DONOV /) 712 WIS /2 NN /) N9DI9a WA NON
unless the legs (the lower portion) of the doorposts (before it begins to arch)
are three o°nov and the height of the doorway is ten 0°15v; the meaning of
"3 12302 v is that at the bottom of the doorway there is an open area that is

at least three 2>mow high and is at least four onov wide®, before the arch
begins to curve inwards, narrowing the upper opening of the doorway to a width less than
four oroY -

* The reason we require that it be four 2nov wide for a height of (at least) three o°nov, is because if the
width of four a°n5v would be limited to less than three a°nav high above the ground, it would be considered
as part of the ground, and not the doorway, due to the concept of 7127, and it would be as if there is no
width of four ooy at all.
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- 199N NY 73(13) 193) NPNRY IN /) 799393 PPN YaN
If however the sides do not extend vertically upwards for a height of at
least three o°1ov with a width of four 2°19v or the doorway is not high(er
than) ten o°1ov from the bottom of the door till the high point of the arch we

do not say the rule of '0>wia? PpPIN'. We see from here that in order to be '7ppn' we
require that at least at one point it should have the proper dimensions both in width (four
o 1ov) as well as in height (ten 2°19Y) -

— NIIY D5 9I1N2 9NN 290 DYIYND DIPPIN NON 199N 591 19 ON)
If so how can we say here by this miniscule crevice, that 'av»ws> 1ppin'

according to »''9, since the crevice does not have the proper dimensions (7"v7) at all,
at any point, neither in length nor in width?!’

ND0IN answers:
- 61’):11 NYVA MUY 1997Y 129N 299NRT PN 13929 90INY
And the >"1 answers that the statement of w"> 72 11 P77 is discussing
such crevices that are usually made when the walls are built -
- D290 MYIY PYUNanY
Which penetrate the entire wall and extend from the *"717 into the 9'"':79 -
- £%290 MY 781 XY YaN 77 0N DN NN MIYAY 183)
And on the side facing towards the 3''719 these crevices are four 2°19u wide

however on the side facing towards the 2'"'719 they are not wide four o’nov, for
as they approach the 7"771 the crevices narrow, to a point, that when they open into the
1" they are miniscule in size’ -

- 8’}:‘1 NN MY IIND MY 29IN RAT TINYN MY 9N 1N NNDY 19195
And everyone (712 »"7) agrees that the crevice has the status of a >''19

for the rule is that %7 3'""5192 3'"579 919, and these crevices are open to the *"777 on
the inside -

> There is (seemingly) no place where the crevice is 2°m9v '7 long or 2o '7 wide.

6 See w"x77 Moo, As the wall was being built higher they would insert triangular slats of wood between
the rows of the bricks which extended from the wall as ‘scaffolding’ for them to stand on to enable them to
build higher. When the wall was finished they removed the scaffolding leaving crevices in the wall.

7 We may picture the crevice (looking down at it from the top of the wall) as (an) a (isosceles) triangle; the
base of four 0 nov facing the *"717 on the inside, and the ‘apex’ of the triangle opening into the 1"77 piercing
the entire thickness of the wall, which is assumed to be more than o°r5v '7.

¥ Mmoo may be explaining why this 2 is considered a *"717 since it is not > ma3. [See however 71"7) X"ow
("1 who disputes this.] The answer is that it need not be " maa since it is *"77 >0 which is a ¥"13% >"71
(even if we do not maintain 2°5w3% PppIn). See footnote # 10.
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- 71 9Y 71 2PN NV RIN DI XD

And the argument between 71271 »"7 is only whether we consider this

crevice as having an area of onov '7 %Y 019V '7, which is the required 7man opn -

- 71 9Y 749 57 ©Y9WNY PPN NN 229949

according to »'"1 we apply the rule of a%wn® ppIn, for we have here the

proper dimension of '7 ¥ '7 at one point; on the side of the >"771 it is wide '7

and the length of the crevice (from the *"77 to the 2"77) is also '7T and

therefore since it has the proper dimensions at one point it is considered as
a'toy 't opn -

— DYIUNY PPN 199N N7 779 PIRM 529 199N NYIY 95 9903 W Yax
However had it been actually a miniscule crevice even »'9 would agree
that we do not apply the rule of a»ws» PppIn -

- 700N 1950797 MUY yYUN 199
And it also seems so from the s»>wym° 71270, for it states there:

— D)5 HYMN NN PPN 71 OV PRY Pa 7T OV YOIV 1A 9INM 2397 NINYT DY

The opinion of »'9 is whether the crevice is wide four 2°15v, or whether

it is not wide four o°rov we view it as if the wall was carved out' to
contain a crevice which is "7 %y 7.

mooIn responds to an anticipated question: H
— PN MY 29N 222UN /99 NHVNRHY DN NI
And specifically only those crevices that are above ten 2’19V from the
ground are considered >''579 5917 -
— OV PYNRNYN TN MY 23 PN DIV DRV Hax
However those crevices that are below ten 2’190 from the ground, they are
not considered °»7 °"772 "0 oM, since the dwellers of the ''71% do not
make use of them -
- 192 PYNHYNRY ©2190 MY )2 2NN

? A" R™9 nAw . Our XD is 12 w°w "2, See 072X °10 ,X"5W and W K NhinA.

19 See X"wnan, who explains that Mmoo derives proof from this 2w, which discusses only the 7"y7
aspect but not the " 23 requirement, that there is no need for " 23 since it is >"71 1. See footnote # 8.
""'moo1n must add the following stipulation, for if we would assume that even "» 7un? it is considered >
M7 "3 2", it would not be understood, why do we say yIR2 P2 "n fun? that the 211 is because of P
7"772 R"7 it should be 21 even if it was less than X"7, since he was >"77% 2" paw. Alternately, since
25w 1P, why did X*1 ' state 19 1" NP IR 1 79n? P, it should apply to n un? as well.
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on account of the people of the 7"";71 who use them."?

mdoINn proceeds to explain the X7ni:

- 7119 9N DAY 2) DY GN) 74T 152 1YY N1 99 131\01‘1’9 ”M
And this is the explanation of the X7n3: ‘If you will say that the reason he
is not 21 if "» 79Yn? 5M12a P, it is because the 1 was not '7 %Y '7’; and we
do not mean here that since it does not have '7 5v '7 it is not a >"'117, but rather
even though these crevices are considered >'';19 991, since they penetrate the
entire wall, which confers upon them the status of a *"'77, nevertheless -

— 999 NN 29 9NN 7T OIPN HY NI XYY 29D 9N PIND M
It is considered as if one threw an object in the air without landing in a
proper place, that he is Mvd, and the same should be here since it did not
rest on a '*'7 ap»; To which the X723 responds: but this is not so for 29

71770 said etc., that according to "1 in such a situation we apply the rule of PPN
27wi° and therefore there is a '7 2P 3"V 7137 and he should be 2n. However since the
mIwn says that he is Mo that proves that we are not discussing a case of a (penetrating)
crevice.

mooIn anticipates the following question:

— NAYY RIDY PRPIN /59K KYT WM 1AY 93 99N 1NN 199971 NYT XD
And the reason why we do not establish that the “;maw» is discussing an
actual miniscule crevice (that does not penetrate from the "7 to the 7"77,
but it is only on the side of the wall facing the 7"717) where everyone agrees
that we do not apply the rule of 2°2wn> PPN, as Mmoo proved previously, and
therefore it is understood why if 705 "n 7%vn% 1, because then it would be considered a
"o o1Pn, and we revert to the original question on »aX, why does 717 "33 have to say

that the 71wn is discussing the unusual circumstance of a fat fig sticking to the side of the
wall'®.

2 See “Thinking it over’ # 4.

" Now that we have ascertained that the 911 is a *";17, we have to understand what is the question M%7 n"
7"v7 M1, it is seemingly irrelevant whether it has 7"¥7 or not, since it is a >"71 regardless.

'* Once Mmoo maintains that the M is a *"77, he is compelled to interpret the question '7 2 N*77 0" to
mean that there is no '7 21 3"y 7M17, even though the more apparent interpretation would seem to be that if
itis not 7"'v7 it is not a >"711. See footnote #2. See ‘Thinking it over’ # 1.

'3 That says: 82 P12 n 72905 pTT

18 This is according to *»ak, who maintains that *n7 1"773 2"777 0 and therefore “» nvn? is 270 if it landed
in a 17, and MWD " [9YN? because it landed in a MWD DPn. See 0"
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mooIn responds:

— 0N 72 99N ONUT OIVN NN
The reason is that this is the usual manner in which crevices are found'’.
Therefore since crevices customarily penetrate the entire wall, which makes them a >"77,
and according to n"7 who maintains Pppm; if it would have landed in one of these
crevices "n 119¥n? he would have been 21 according to »". That is why we say that it
did not land in a crevice but rather it was a 7w 77°27.

mooin offers another explanation why we cannot establish the wnan X17w 92 2n2 mwn:
— NPNPY 192272 MPINY T8N TN YT I

And furthermore we must say that this 7w is discussing a case of 79°27
792, and cannot be discussing a wnn ¥"> Mn; and MO0 explains -

— MRPINY XY ©YYWNY PPPIN 123 9N K97 Unn NIV Y3 9Ina
For if the mwn would be discussing a wn» w'"> 97 where we do not apply
the rule of av»wn» ppIn, which (even though it) would properly explain
why if MDY IR P Dn aHynh PO1, nevertheless we cannot establish the
7Iwn in such a situation -

— 77 0PN *2) DY NI XY NN YIND P17 INNIN 790 NVNRY )5 ONY
for if it is so, that we are discussing a wnn w"2> 71, why does it say in the
mwn that if he threw it "> wnY it is as if Y82 P75 and he is 2°n; why is he
21, since it did not come to rest on a 7"V 'T 2P, for it is a wnn w"> MM, where

everyone agrees that we do not say '*0°9wn> Pppin. Therefore we cannot be discussing a
wnan v M.

Now that we say that we cannot be discussing a wnn w"> 71, for we would not
understand why 2°°11 "» 7un2, since there was no '7 21 3"y M7, we will now understand
why the X713 assumes that the 71wn of 121 X"7 p1i7 follows the ruling of »"9 concerning
o°owa> Pppn (if it would be discussing a w"> M) instead of the majority opinion of the
1120,

— N 9N 29 1PNNN DNDT NN TA999 97U Y19 91997 7298 PPN
And it is not necessary to follow the interpretation of >'"w-, that we
reject the option that the mwn is discussing a situation where it landed in a

' A non penetrating miniscule crevice would — according to this answer — seemingly be more unusual than
(or equally unusual to) a 71w 77°27.

'8 It would seem that this second answer is seemingly more convincing than the first answer of 72 001 ano
on (for which 'on offers no support). As to why '01n does not give this as the first (and perhaps only)
answer, see further in N19010 justification of "w7%s.
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crevice, because of the rule that ‘an anonymous 7w is ascribed to »'"%’,
and n"1 maintains PP, so if it landed in a crevice why is he "“n 79vn% Mo, However,
according to this explanation the refutation is based on the assumption that this 71wn ano
is n"1, which while it is a valid assumption; nevertheless it is not definite, because
perhaps this mwn follows the majority view of those who maintain PP 7X. The
question would then remain, let the 71wn be discussing the case of a crevice, and he is
1 77912 70D because RPN TR —

Therefore nN1901n concludes that we have a stronger reason for assuming that the 71wn is
in accordance with »n"9 of 1P, as follows:

— 712N 1ORY NINY DI 99N 999910 N N9 Yy NON
Rather we would be forced to say that the miwn follows the ruling of n"9,
for if we establish the m1wn is discussing the case of a (penetrating) crevice
which does not have the full dimension of 7"v7, then -

- DOYYNY PPPIN MINT NI 5299 NNPINY 7798
we must establish that the 71wn is in accordance with »''% who maintains
29w PRI the reason is -

— XN P 791 NVNRY INNN PAYY
For according to the 3137 we have a difficulty, why if it was thrown unb

1 is it PIN2 P90 and he is 270, there is no '7 2pn 3"V mIn?! Therefore we must say
that it is in accordance with n", who maintains P, therefore there is a 2pn 3"V 77
'7; but then why is 75 "“n 1792, since n"1 maintains 2°>wn? PPPIN? And that is the
reason why we cannot establish the w"> 7172 mIwn.

In summation: The mwn cannot be discussing a penetrating crevice, because we would
have to assume that we go according to »"9 that 2°>wn® PP in order to satisfy the need
for a "7 opn A"y 7man in the case of 21 “n nunY, consequently we would not understand
why o “n 0hvn if we assume 2°°wa2 PppnT ™o, If we would discuss a non
penetrating crevice, we would understand why "“» 791 is w9, but we would not
understand why "» fn? is 2n, since there was no "7 21p» 3"y Ana.

mooIN justifies "wID:

— TPY9P ONN 239 PNNINND DNDT DIVN WD TINNT 37U WY AW»H U
However, one may justify s'>'"w interpretation that it is necessary to
interpret that the refutation, which is based on the assumption that this
mwn follows the opinion of n"1 regarding 2°>wn? PPN, is because of the
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rule that »''9 J°5n%1n% an®, and >"w1 may be justified in not accepting M0 proof as
mentioned above -

- NN 799199 1Y YN 991 INY INT

For it were not so the way °"w7 maintains, but rather the way msoin

maintains that if the 71w»n does not follow the opinion of »"7 we will have

the difficulty of why "n nun? is 21 since "7 21pn 3"y n1 XY, if this is correct
the X923 should have refuted outright, when asked -

$NIND P INNN /210 NVNY 7T N2 DT NI )

‘Perhaps you will say that the reason he is " 75917 709 is because "2 n°®

'7’, so instead of getting involved whether we say 7Ppim, the X713 should

have responded that it cannot be discussing a 7"v7 12 PR 71 for if so why

by "> mwnb is it Y82 P19 and he is 277, there is no '7 2P 3"y man.'” Somehow the

N

X713 was not bothered by this issue, therefore >"wA will maintain that we cannot say that
the mawn must follow the opinion of »n", for otherwise how are we to understand of N7
211 "n, for since the X713 was not concerned, neither should we. And the basis of the X773
accepting the opinion of 12" is based on the rule that X7 »"9 °n°1n» ano.

SUMMARY

The rule of 22w PP according to n'"A, is valid only, when at least at one
point there is the proper width and length. Therefore the 7117 under discussion
here is a *";17% *"i17 W29 70 and '7 12192 @ on the side of the *"7n.

We cannot ask on X that we should establish the 71wn in P71 by a "> 0
W90 1°RW wan, for two reasons: 1) because the w99n 70 was more usual,
2) if the mwn is discussing a wnn w"> NN where we cannot say 2°2w% 1°ppin,
then why in the X9°0 by "n 701 he is 2°°11 since there was no '7 2P A"V 7M.
The question "7 "2 n°27 0" has to mean that there was no '7 2p» A"V 7mn,

" Therefore we may assume that the X3 wished to discuss each part of the 71wn separately, to see if it
could be discussing a ¥"2 M on its own merits, therefore the X713 does not give this aforementioned proof
from the X9°0 to reject whether in the X" we are discussing a w"2 711, and consequently, we cannot use it
to prove that the Xw™ of the 7113wn must follow the opinion of #"7 (or perhaps that this 71wn does not require
a'7 0pn A"V anam, or o1 0 % XMwn nawnn). See ‘Thinking it over’ # 3.

Alternately, the X713 maybe felt that according to »aX, who maintains 7 7"772 7"77 7 a '7 2pn 3"y 3mn
is not required for 1" 1 (since it is actually a part of the 7"77 itself and not an object in the 777,
therefore the 2"77 is certainly a '7 oW, somewhat akin to "W 7wn2, or some other explanation).
(Consequently we may even extend this reasoning — according to *"w, that >"77 >, also do not require a
"7 0Wpn, thereby negating completely 'o1n rendition of the question '7 ™2 n°%7 n">1 that it refers to a 3"y 7m17
n"IKY A"V T OIpn.)
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and not that it is not a >";717, for since it is ¥"777% w997 it has the status of 1
'L

This 7°7 that *"777% w17 0 has the status of a "7, is limited to 75vn? 270
“n, however "n 7vn> 2N are not 17 "7 since the °"'77 12 refrain from
using them since the 7"777 °12 use them.

The X3 assumes that the "21 P77 ,mawn follows the ruling of n"9, if we
were to assume that it landed (¥'">) 713, because otherwise we would not
understand why in the 2> 17 ™ 7vnY K90, since there was no '7 3P A"y anan.
The difficulty with all this is, why did not the X7n3 itself respond to its own
rhetorical question '7 "2 n°%7 n", by saying that it cannot be so, for if it is
so, then why o "“n vnb, which gives justification for s""w9 opinion that
we assume that the 71wn is 113, only because »"7 71wn ano.

THINKING IT OVER
1. Can we derive from mooin, that the more simple explanation of n°%7 0"
'7 ™2, would mean that it should not be a 79920

2. What is more usual a w2191 717 or a wnn w"> M, explain.

3. When the &7n3 asked: "7 °2 n°27 0", why did the X3 quote the X of
n'"3 7R "1 concerning 7P, the X773 could have responded if there is no '7,
then why are you 271 in the *'x9°0?

4. m»doIn states that *"'7175 °"777 >0 is only “» 77917 but not “» 7vAY since the
2"717 %13 also use it and not the >"77 *13;% indicating that if the >"77 °12 would
use it "»n 7unY it would be °"77 " and not 1"77 0. How is it that the
individuals of the *"717 can be Yvan the usage of the 2’27 in the 7"71?!>

20 See footnote # 14.

2 See footnote # 19 and w"x17 oM.
2See footnote # 12.

# See X"ow and P17 AW,
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